Subject: Re: How to do a "match merge"?
Posted by Dick Jackson on Fri, 26 Oct 2001 05:10:17 GMT

View Forum Message <> Reply to Message

> "Joe Means" <joe.means@orst.edu> wrote in message
news:3BD89112.2070104@orst.edu...

> Thanks to JD, Pavel and Dick who responded. The simple approach below
should > work just fine.

> |IDL> segments.length=seg_len_vec[segments.segment-1]

Ah, it looks like | missed the point a bit. The problem | jumped on was an
interesting one, but not one that needed solving. :-( Well, if you did need
a way of adding up lengths of all the pieces in each segment *without a
loop*, there you go!

Cheers,

-Dick

Dick Jackson / dick@d-jackson.com
D-Jackson Software Consulting / http://www.d-jackson.com
Calgary, Alberta, Canada / +1-403-242-7398 / Fax: 241-7392
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